GeolLogPlot
(Scale: 5":100' (10'))

Archer

Company: Bonanza Creek State: CO
Well: State Pronghorn 44-32-31MRLNB County: Weld
Field: Wattenberg Country: USA
Well ID: 051234126200

Job Number: 432-15-040

Location: Sec.32-T5N-R61W Elev KB: 4547

Operator 1: Andrew Brus Elev DF: 17

Operator 2: Solomon Lorenzana Elev GL: 4530

Comment 1:

Comment 2:

Comment 3:

Comment 4:

Comment 5:

Hole Data Casing Record

Size From To Size From To
13.5 0 457 9.625 0 447
8.75 457 6469 7 447 6458
6.125 6469 11913 4.5 5582 11913

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N 53 555

Cal Factor 5.06 2.75

Gamma Offset 55 54

Start Depth 457 6469

Start Date 5/16/15 5/27/15

Start Time 7:00 12:15

End Depth 6469 11913

End Date 5/18/15 5/29/15

End Time 18:45 9:45
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